Maths Worksheet Year 4 – Friday
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Answer true or false: 4 is a prime number,
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ly be divided by itself and 1
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Werite down the next
prime number after:

Find the Prime number .
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Write down the next
prime number after:

16 33 is a prime number.

18isa composite number.
4isa composite number.

9 is a prime number.
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12 is a composite number.
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Find a prime number between

Are the following
€ach pair of numbers below.

true or false?

14 and 18 . 39 is a composite number.
. 4 25 and 30 . 2 is the only even prime number.
@ 33 and 40 @ 11isa prime number. .
. 30 50 and 55 @ Thereare s prime numbers m
between 0 and 10. :
® 2 85 and 90 . :
e e . 1 is the smallest prime number.
Qe T 90 and 100
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! is the only even ©
mmb Wi following true or false? Rasul says that 2 is ¢ . :
.m: g n_,_” ! wm e . prime number. Is he right or :
There are 3 pri : e :
» numbers less than 5. wrong mxms you : :
i Lacey says that every prime :
. iz E.mmw v:hsoooz_._aco_.m . number over 10 ends in 1, 3, 7 :
between 80 and 90.

or 9. Explain why she is correct. :
. 73 is a prime number.
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@ 85 isa composite number. o 10 thatendsin 1,3, 7 or 9 is

‘ 28 is a prime number. prime. Explain why he is wrong. :
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Set A
JEn3
21
017
4. 19
B3
6. 29

Set B
1522
205
313
4. 31
5. 43
6. 67

Set C
g 5.7

2 2829

3. 41,43

4 79,83

§;:: 53,59

6. 89,97

7. False

8. True

9. True

10. True

11. False

Ty
83
9 s
10. 47
11. 61
4274

3. 1
8. 29
9 37
10. 53
11. 89
12,97

13. True
14. False
15. True
16. False
17. False
18. True

13. True
14. True
15. True
16. False
17. False

12. He is right. All even numbers
can be divided by 2, so all
even numbers apart from 2
must be composite.

13. 2 is the only even prime number so
no prime number over 10 can end
in an even number. All numbers
over 10 that end in 5 are divisible
by 5 so prime numbers over 10

cannot end in 5.
14. Eg. 21~ 3=7





